TRBHEAT A — T g hks:

mﬁama HERUEAT V—F Rfts

o EHEE

(B8 /\fu 6% 48 1H E 5 74 3A31H ) (BAr : M)
, wWiEELE ‘ FE (4) RE®) ZEM)-B) AEE
= I EEREM - XEEENA 266, 800, 000 277,790, 710 A10,990, 710
% AR EREFEMEIA 1,000, 000 1,030, 000 A30, 000
% [EBFEREEESNA 650, 000 717, 169 A67,169
gl |ZOMmoOMA 2,150, 000 2,326, 325 A176, 325
[ FEESRAG (D) 270, 600, 000 281, 864, 204 A1, 264, 204
X Z(AERXH 174, 650, 000 166, 761, 086 7,888, 914
AIHIEEERESTH 38, 050, 000, 32, 855, 942 5,194, 058
M| | FEBEEXU 12,010, 000 8,675, 055 3, 334, 945
%| |[ZoMoFH 1,500, 000 1,487, 661 12,339
EERHIHEF Q) 226,210, 000 209, 779, 744 16, 430, 256
FERHESNFEEG)=(1)-(2) 44,390, 000 72,084, 460 A27, 694, 460
He| 4
B®IA MREHESERA (@) 0 0 0
%| X | EEEEREXH 120, 000, 000 113, 442, 362, 6,557, 638
i)t
%
=
X
5
I
= HEREEE X HE (5) 120, 000, 000 113, 442, 362 6, 557, 638
MEREEEESNTEE(6)=41)-(5) A120, 000, 000 A113, 442, 362 A6, 557,638
|
DA Z OMOTFEERAE (D) 0 0 0
fi| %
| H
i
B
5
iy
5
(1%
x Z O DOIEENZ HET (8) 0 0 0
Z DD EBNE SN ZEEE (9)=(T)-(8) 0 0 0
FHEXH10) 1,500, 000 0 1, 500, 000
0
UG SINFTE=ESE QD=(3)+(6) +(9)-(10) AT7,110,000 AA41, 357,902 A35, 752,098
HIERI &S (12) 655, 283, 594 655, 283, 594 0
YRR IEEES (D) +12) 578, 173, 594 613, 925, 692 A35, 752, 098




